Efficiency vs Dxy(PV)

> F

-25-20-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__CMSSW_ckfnocut3_RECO
—e— DQM_V0001_R000000001__Global__CMSSW_mknocut3_RECO
Efficienc] —— DQM_V0001_R000000001__Global__CMSSW_mknocutinoclean3_RECO

0.8

0.7

0.6

0.5]

efficiency vs dxy(PV)

Ratio

10
08 6-0.

=1-0.8-0

0 02040608 1
TP dxy(PV) (cm)

4-0.

Efficiency vs Dz(PV)

S 05
[
wO.
hel
20
3
©0.35
@
o SR TR | R | | R
2 03
(5] . 5 .

0.25f ¢ -H-qHf -+

0.2k} {f---1 -1

ORT:! S A O (R SR 8

R R O | R |1 B

0.05f---f - -H- 1 -+ - 1

. ) o
- 1 1 1 1
o9 [
T
14
i SRR | B SR FE - - - - R

0'—\0 -20 -10 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.8,

0.

efficiency vs dz(PV)

Ratio




	Contents
	Page 1


